Noteguide for Trans. and Tors. (Videos 9F) 			Name					
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Find T, Wx, Wy:
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Force Equilibrium:
1. Draw Picture/Draw Arrows for forces
2. Calculate weights
3. Express/calculate components
4. Set up a <sum of all forces>= 0 equation
for x and another for the y direction
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Torque Equilibrium:
1. Picka Pivot Point
(at location of unknown force)
2. Express all torques:
3. frF£rF+£rF...=0
+is CW, - is ACW
1 is distance from pivot
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The beam is 6.0 m long, 45 kg and uniform. The person is standing
0.50 m from the right side, and F, is 4.0 m from the left side.
Find F1 and F2

64.0 kg
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The beam is uniform and 4.00 m long, the cable is attached 2.30 m
from the left side at a 30.0° angle with the beam. Find T, Wx, Wy





